THE BIG EVENT
Calculators are not allowed.

How many numbers between 1 and 100 do not have a 9 in them?

How many millimetres in a kilometre?

Ten posts are placed 20 metres apart on a field. What is the distance between the first and
last post?

How many different ways are there to give someone 10 pence?

Three numbers add up to 14. Multiplied together they become 84. Find the numbers.

A pen and a pencil cost £5. The pen costs £4 more than the pencil. What is the price of
each?

How many spots are there altogether on five normal six-sided dice?

A household has some goldfish, some canaries and rabbits. Altogether there are 15 heads
and 26 legs. How many of each animal could there be?



